
You need to solve two steps to answer each
question. You might need to add or subtract.

Write your final answer in the box.

Name:......................
Date:........................
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Word ProblemsWord Problems

A jungle gym has 20 rungs. Half are
broken. Workers fix 6 of them. 

How many rungs are now okay?

There are 12 scooters. 5 kids take a
scooter each. Then 2 return theirs.

How many scooters are free now?

The sandbox has 30 toys. 10 are taken
out. Then 8 more are added.

How many toys are in the sandbox
now?


